E 3488-0415



E 3488-0415

Position
Ref.No.
Repere
Posizione
Posicion

Menge
Quantity
Quantité
Quantita
Cantidad

Teile-Nr.
Part-No.
No. Référence
Nr. d'Ordine
No. Referenzia

Hinweis
Hints
Indications
Indicazione
Indicaciones

Position

Ref. No.

Repére
Posizione
Posicion

Teile-Nr.
Part-No.
No. Référence
Nr. d'Ordine
No. Referenzia

Menge
Quantity
Quantité
Quantita
Cantidad

Hinweis
Hints
Indications
Indicazione
Indicaciones

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

21001662

21000815

21001663

21000771

41000414

40031582

25040079

20025158

20029026

25031005

11001343

25044006

20029011

21000747

21000799

25040033

20029004

25049011

21000779

11001336

25044101

20029012

20025594

20007007

25044002

20022001

20026578

20026578

20022001

20007069

EPA
MDM , CCD2.0

EPA - MDM / CCD2.0

DIN931-M12x110
VS 12
Nord-Lock 12,0

DIN934-M12

DIN912-M8x25

VSKZ 8

DIN931-M12x70
VSK 12

DIN7349-13x30x6

DIN912-M10x25

VSKZ 10

DIN912-M6x16
Tensilock M6
0,1m

0,66 m

Tensilock M6

28

29

30

31

32

33

34

35

36

37

38

39

40

1| 25048001

1| 25044002

1 11000624

1| 40030707

1 10017354

1| 20016399

2| 20007233

2| 20007233

1| 40030706

3| 10017393

1| 25040039

2| 25048004

1| 25031015

MDM, CCD2.0

DIN125-A6,4

DIN912-M6x16

0,74 m

DIN931-M12x120
DIN125-A13

DIN985-M12

ab Serien-Nr.20051137

ab Serien-Nr.20048117

02.21




E 3490-0520



E 3490-0520

Position
Ref.No.
Repére
Posizione
Posicion

Menge
Quantity
Quantité
Quantita
Cantidad

Teile-Nr.
Part-No.
No. Référence
Nr. d'Ordine
No. Referenzia

Hinweis Position
Hints Ref. No.
Indications Repére
Indicazione Posizione
Indicaciones Posicion

Menge
Quantity
Quantité
Quantita
Cantidad

Teile-Nr.
Part-No.
No. Référence
Nr. d'Ordine
No. Referenzia

Hinweis
Hints
Indications
Indicazione
Indicaciones

21000747

20002268

20002330

20002267

21000794

21001112

05.20




W

/)

- -

QR

N
/

E 3759-0419



E 3759-0419

e | e | T e | Noree | o
e | Quntie | Retere pdcters e | Quni | Rt pacters
Posicion Cantidad No. Referenzia Indicaciones Posicion Cantidad No. Referenzia Indicaciones
1 11001327
2 25044002 | DIN912-M6x16
3 20029007 |VSK 6
4 25048001 |DIN125-A6,4
5
6 11001474
7 20007084
8 11000036
9 11001333
10 11001331
11 25038007 | DIN933-M8x20
12 20029021 |SKB 8
13 20007004
14 25044005 | DIN912-M8x20
15 20029003 |VSK 8
16 25048002 |DIN125-A8,4
17 40031336
18 40031334
19 11000868
20 20025047
21 11000868
22 20025590

04.19




